105 BAEEPEPUE: i — A I
B2 (B) E

#ilog 2=a - log 7=b - Hi log 35 A NEIA[E ?

(A)l+a+b (B)l+a—b (C)1—a—b (D)1—a+b-

i et e T 30 35— » BIIED 1 a8k 2 i - A 1 {EHHERE 6 /NRF%
T3 e ?

(A)1024 (B)2048 (C)4096 (D)8192 -

TR —GEE 10 #k A » 5% 10 Fl B W HFifE 57000 JT - #HHFB AL
Sz H e 27000 It - RIHAM= A2 S H k% o0 ?

(A)30000 (B)42000 (C)84000 (D)127000 -
AH—EEERHEER - ZRBEKEZE - G =85k 2 L300 - ZBIE PHE
THEE R « HHeseR IR 2 1% R ZE5esE - RIGEI R AR A
H%VREATRE ?

(A7 (B)12 (C)36 (D)144 -
CUAIAABC 1 =TEER Ry A(—1,2) ~B(—3,—3)~C(3,—1) » AIAB3% Fiyrifis
Fofr] ?

(A)@ (B)@ (C)@ (D)V26 -
EcscO >0 Htan 6 <0 - HI 9 BiEsesmfRfy ?
(A)— (B)— C)= (D) -
729 = 21 =% pom ‘

= — (—— — » H A0

EATA (1000)3 (343)3 +(59)2 HI] A 2B Fsfe] ?
79 80 81 82

(A) 100 (B) 100 € 100 (D) 100
EUIS,=1 T +2— +35 o1+ —r) Bl Sw LR 2

511 1023 511 1023

LI f(X) =" +-ax+ 1 DL 2x+3 B A izl % » B f(x+ DEREL x— 1 HUERE

Fofr] 2
(A)7 (B)8 (C)9 (D)10 -

BERY 1 AT \B#(B).doc(05)



10.

11.

12.

13.

14.

15.

16.

17.

18.

x—1 6 12 x—1

BRI o ey W oy LR
3 1 3
A=~ (B)O ©~ ©) -

EFN—ERTEIREM 3 0y » TN 4 Ror 2tk > wfs—EIEGE - HiES
TR R IR TR ARG > AIRR T IIaR R 2 P 5 85 2

(A)64 (B)72 (C)128 (D)144 -
2.3,
B, g RITSIRHIER ?
S =
X y
‘2 3‘ ‘2 3‘ ‘2 3‘ ‘2 2‘
4 —9 4 —9 -1 -9 4 —1
A pr— b pu— B fr— bl f— —
(AX=15 3] YT 2 2 EBx="1 3 Y=12 3
—1 -9 4 —1 T 4 —9
2 3 ‘ ‘2 3 ‘ ‘2 2 ‘ ‘ 2 3
4 —9 4 —9 4 —1 —1 -9
C = ——F Y= D — y \/—
CX=r—7 Y= 73 3 Ox=15"73 2 3
4 —1 = &5 4 —9 4 —9
VAT ax®+2x+c¢> 0 ffiE s — 1<x<3 » Hil a+c 2 fE B faf ?
(A)—4 (B)—2 (C)2 (D)4 -

E&TA0,1) ~ B(—3,5) ~ Ca, by Fifi =25 - Zas ACHERE 10 Hil
e AB 2l Hi a, b (2 fE ki 2
(A)a=9 > b=0 (BJa=—3:b=5 (Cla=6:'b=—7 (D)a=—6'b=9-

E4AB|=4 - |AC|=3 R:@Eﬂmﬂﬁﬁéﬁa%% > Al AB +2 AT 2 BBy fr 2
(A)+52 (B)J76 (C)V52+24/3  (D)10 -

EUAIEAR L EEL(L, 3) - HEd x i ~ y eSS S REH— S EA —=AE - [
NHUATE R ELAR L YRR ?

(AX—y=—2 B)x+y=-2 (C)2x—2y=1 (D)x+y=2-
# 00 =0 +3x—1)*(x*—5x%) » Al £ (1) FfiT 2
(A)—183 (B)—87 (C)—57 (D)—36 °
AR = AN B sin(—960).Z (H

—3 —1 1 J3
(A)T (B)T (C)? (D)T o

BERY 2 RIHE



19.

20.

21.

22.

23.

24.

25.

T 3 , 4 12 :
_ y - ’ = — = E
E%uz <a<rm 5 <B<2m > Hsina c cos 3 13 H sin(a + B)
ZAE R ?
—63 —33 33 63
Nes ®) 65 ©6s Pres -

#€{1,3,5, 7, Oy = EFHERE T LUB R —E =478 > RIFTE rIRERZ Y =
(VA SGRLEES 9 G

(A)20 (B)60 (©)90 (D)120 -

FEFHE 4 EMEELCALER B 6 {EFEIR < Bk - SdifgEhh 3 IR 2 BRAHR
[EIFEF) » F ERAIBRIFAE T AV ER A EPERIgAESE - Al e A e 1 E
—fEALER < B3R Ry iy 2

(A)0.4 (B)0.5 (©)0.6 (D)0.7 -
CAI—HHEEE K} 54,56, 62, 63, 65 M7l - FRIEEHBEE Kl REFHS 8
Hkefn] 2

(A)18 (B)36 )72 (D)90 -

BV y=ax®+4bx+4a Bl x filifg fitH s B - HIEEEES IR > I T3
RGAL A A 2

(A)a<0-a’<b® (B)a<0:a’>b*> (C)a>0-a’<b® (D)a>0>a’>h?-
SRR y= =X+ 1 FE x=—1 ~ x=2 ;Z[{5]8 X iy Ffr [ i e sy i S

4 5 7 8

A B) © (0)7 -

A ARGIE] X* +4y® —Ax— 16y +a—=0 H x flHES - FLEL y @A) - A a 2 ekl 2
(A)4 (B)8 (C)16 (D)24 -

BERY 3 RIETE



105 BAEEPEPUF: i — A I
B2 B) akREERE

1.(D) 2(C) 3(D) 4MD) 5(C) 6.(B) 7.C) 8.(A) 9.(C) 10.0D)
11.(B) 12.(A) 13.(C) 14.(C) 15.(B) 16.(A) 17.(A) 18.D) 19.(D) 20.(B)
21.(B) 22.(A) 23.(A) 24.(D) 25.(C)
70
1. I0g35:log7:Iog7+log10—log2=b+1—a
2. 6/NEF —12{F 30438 —2'2=4096
3 10><570003—7><27000 _ 381000 _ o004
4. SEH S FHZ —31-41=6Xx24=144
— —1-3  2-3 —1
5. ABHE : =(—-2, —
HRER( > > )=( 2)
| 1 101 _ <101
M= |(—2—3)2+(—+1)? z\/25+— =\/— =
HRER \/( ) (2 ) 2 2 >
6. cscd >0 tan@ <0 —Hell
-1~ —I-IV
9 5> 34— 49+ 81 3 7 o
7. A=[(—)13 —[(=)] 3 +(—)2=— — (=) "+[(—)] 2
[(10)] [(7)] (9) 700 (7) [(3)]
_ 8 7. 7_81
100 3 3 100
8. Sy=(1+2+3+ e +n)+(1+%+%+ ------ +%)
1
~ n(n+1) 1(1_(E)n)
e —+ 1
2 L
2
5= 22 L oa— (L ym—s542x 1222 g5y 21 g 2l
2 1024 512 512
, nr e =39 3 s 3

—f(X)=x>+2x+1 > X f(x+1)=+(x—1)Z &k f(2)=224+2%x2+1=9

BERY 4 RIEE



10.

11.

12.

13.

14.

15.

16.

17.

18.

x-1 _ 6 n 12 —6(x+)+12 _ —6(x-1) _ —

X+l 1-x x> x?—1 x?—1 X-+1
—>X—1=—6>X=-5

x—1 51 3

x+1 —5+1 2

X

y

X+3=y+4 —>x=y+1-
X(x+3)(y+4)=2xy —(y+4)°=2(y+1)y —y*+8y+16=2y*+2y
—>y*—6y—16=0 —(y—8)(y+2)=0 —y=8:x=9 —xy=72

2 3 2 2 2 3 2 3
1_‘—1 —9‘ 1_‘4 —1‘ - ‘4 —9‘ _‘4 —9
X 2 3]y J2 3] 1z 3] YTz 2|

P A et [ e I

—1<x<3 —>Xx—3)(x+1)<0 —->x*—2x—3<0 ——x2+2x+3>0
—a=—1>¢c=3 —at+c=2

AB=(-3.9 1 2t g A e L 10
AC=(a,b—1) -
—~AC=-2(—3,4)=(6, —8)=(a,b—1) —a=6>bh=—7

— — - 1

B . C=|AB||AC|COS% =4x3x - =6

—|AB +2ACP=|ABP+4AB + AC +4/AC[
— 424+ 4X6+4x3?=76 —|AB+2AC|=76

FIRE NGB =y B R L -+ =1 1L YRA
3N Ny SV R YO, Wl
—a a a —2 2

£'(X) =2(x?+3x — 1)(2x + 3) (x> — 5x%) + (x* + 3x — 1)?(3x* — 10x)
f'(1)=2X3X5%(—4)+3%(—7)=—120—63=—183

sin(—960°) =sin(—960° +3 X 360°) =sin120°= + sin60 = %

BERY 5 RIHFE



19.

20.
21.

22.

23.

24.

25.

sinaz%ﬂaeﬂ »cosaz—%

COSB——EBeIV sing = — 153
- : : 4 12 3 5 . 63
sin( a + =slhgcos s +cosagsing=— X —+(——)(—— )= —
(@) 8 g 5 13 ( 5)( 13)
P3=5xX4x3=60
31,4 6 5 1 1

1% 2 S (X =X Z)=3Xx—_—="—=05

w2 H 2'(10 9 8) 6 2
v 54+56+652+63+65 . AT

Y N2 2 2 2
A L — (—6)"+( 4)5+2 +32+45 :%:18
2 2 K2
y=al+ 23+ da=ax+ 2> ) i+4a a(x+ b)2+—4(a i,
a a
. 4 2_b2
T e )kl
a a

Bl X BiAS RIS —HRIE>0 —(@4b)*—4xa(da)>0 —16(b*—a’)>0

2 a2 4(32_b2) e 2 12
—b?>a’ ¥ ——2L >0 ‘a’—b’<0 —a<0

a

y=0fAy=—x+1 —0=—x+1 —x==*1
[ xRt [F— x-S0 0], (3

=[- T +)—(G DS -9 —(F D= T+ =2

Hly@ifHY] —x=0f{tLA —4y*—16y+a=0 —¥[FI=X=0
—>(—16)>—4x4xa=0 —a=16

Hl x ®hAFHAE —y=0fA >x2—4x+a=0 —HRIE <0
—(—4y—4a<0 —a>4

BERY 6 RIHTE



